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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
Zh st 100|000 ~ 7.74 99.39 | =S | 000 ~ 774|237 12.66 Fhst 1.00 | 5.00 ~ 11.00 99.39 | #nLSY | 5,00 ~ 1100|237 12.66
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
Zhst 1.00 | 000 ~ 761 97.46 | =hLS | 000 ~ 761254 12.561 Fhs 1.00 | 6,00 ~ 10.50 97.46 | TN | 5,00 ~ 1050 | 2.54 1251
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 7.39 94.26 | L | 000 ~ 0.00| 1.70 9.09 ZzhnLst 1.00 | 5.00 ~ 9.69 94.26 | =N | 5,00 ~ 9.69 | 1.70 9.09
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.08 76.24 | =nLSY | 000 ~ 0.00)|1.70 9.09 ZzhLs 1.00 | 5.00 ~ 7.00 76.24 | FnLS | .00 ~ 7.00 | 1.70 9.09
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.03 75.59 | #0000 ~ 0.00)| 1.66 8.91 ZzhLs 1.00 | 5.00 ~ 7.00 75.69 | EnS | 500 ~ 7.00 | 1.66 891
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
ZzhnLst 1.00 | 000 ~ 477 59.41 | =nhst | ooo ~ 477|176 9.40 Zzhn st 1.00 | 5.00 ~ 56.00 59.41 | =S | 65.00 ~ 5.00)|1.76 9.40
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




